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61.  (B) EVENT dks vaxzsth o.kZekyk ds Øekuqlkj fy[kk x;k
gS ;kuh EENTV

mlh izdkj] REASON dks vaxzsth o.kZekyk ds Øekuqlkj
fy[kk x;k gS ;kuh AENORS

62.  (C)blh izdkj] (7 + 3)2 = 100

mlh izdkj]

     (1 + 8)2 = 81

63.  (D) lksu dks NksM+dj] ;equk dh lHkh lgk;d unh gSA

64. (B) 16        64 625 81

2
4

    4    
3

54 34

65. (D) Cause

66. (C)

67. (C) HkkbZM

D

++

HkkbZ
cgu

–

HkkbZ

68. (C)

30  eh-

20 eh- 20 eh-

10 eh-

40 eh- if'pe

69. (A)

70. (A)

71. (A) iz'ukuqlkj]

A   :    B   :   C
7×5+7 ×55

6× 9×5+9 ×5×:    :   11×5+11 ×5×6
7

9
8

7 + 35
       6

77 × 28

2156

:    

:    

:    

9 + 54
       7

:    

117 × 24 :    

2808 :    

11 + 9
       8

187 × 21

3927

vr% B dk ykHk =  
44455 2808

8891



                                 =  `14040

72. (D) nks la[;kvksa ds chp dk varj

        = 3244 – 917 = 2327

        = 13 × 179

blfy,] 179 rhu vadksa dh la[;k gSA

vr%] vHkh"V ;ksx = 1+7+9=17

HARYANA MOCK TEST – 100 (SOLUTION)

73. (A) iz'ukuqlkj]

15 55 –

23 55 35

x

 
=

8

13

       x = 25

vr% fo|kfFkZ;ksa dh la[;k = 25

74. (D) iz'ukuqlkj]

x × 
1

4
×

3

7
×

2

5
= 30

             x = 700

rc]

vHkh"V la[;k = 
700 17

100


= 119

75. (A) iz'ukuqlkj]

,d iq#"k dh vkenuh = 2 × ,d efgyk dh vkenuh

rc]

       
48 45

2 16767




= 

25

6210

x 

                     x  = 16

vr% efgykvksa dh la[;k =16

76. (D) iz'ukuqlkj]

  ykHk@gkfu = 

8 1000
– 250

50

250

 
  

× 100 = –36%

vr%] vHkh"V gkfu = 36%

77. (C) Ø; ewY; : foØ; ewY; : vafdr ewY;

100 : 136 : 170

rc]

vuqikr vafdr ewY; : Ø; ewY;

170 : 100

 17 : 10

vr% vHkh"V vuqikr= 17  : 10
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HARAYANA MOCK TEST – 101 (ANSWER KEY)

1. (A)
2. (B)
3. (D)
4. (A)
5. (A)
6. (A)
7. (A)
8. (C)
9. (B)
10. (B)

11. (C)
12. (C)
13. (D)
14. (B)
15. (B)
16. (D)
17. (B)
18. (C)
19. (B)
20. (B)

21. (B)
22. (A)
23. (A)
24. (B)
25. (A)
26. (B)
27. (B)
28. (C)
29. (B)
30. (D)

31. (C)
32. (C)
33. (C)
34. (C)
35. (A)
36. (A)
37. (B)
38. (B)
39. (C)
40. (D)

41. (C)
42. (B)
43. (B)
44. (C)
45. (D)
46. (A)
47. (B)
48. (D)
49. (B)
50. (C)

51. (B)
52. (A)
53. (C)
54. (B)
55. (A)
56. (A)
57. (A)
58. (A)
59. (C)
60. (D)

61. (B)
62. (C)
63. (D)
64. (B)
65. (D)
66. (C)
67. (C)
68. (C)
69. (A)
70. (A)

71. (A)
72. (D)
73. (A)
74. (D)
75. (A)
76. (D)
77. (C)
78. (A)
79. (A)
80. (A)

81. (B)
82. (C)
83. (A)
84. (A)
85. (C)
86. (D)
87. (C)
88. (D)
89. (D)
90. (D)

91. (B)
92. (B)
93. (A)
94. (A)
95. (B)
96. (A)
97. (A)
98. (A)
99. (A)
100.(C)

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

78. (A) iz'ukuqlkj]

 

5000

10%
10%

10%

500 500 500
50 50

50
5

rc] pØof̀¼ C;kt : lk/kj.k C;kt

    1655 : 1500

  331 : 300

vr% vHkh"V vuqikr = 331 : 300

79. (A) vHkh"V ykHk ;k gkfu = + 80 – 20 +
(80)(–20)

100

          =  44%

80. (A) iz'ukuqlkj]

    
3 15

15

x

x




= 2

     x = 15

vr% vHkh"V ;ksx = 3 × 15 + 1 × 15 = 60 o"kZ

oSdfYid fof/ %

 

F        :      S
3 :   1 

4 215 o"kZ ckn

+1 bdkbZ

:   

+1 bdkbZ

rc] 1 bdkbZ = 15 o"kZ

blfy,] 4 bdkbZ = 60 o"kZ

vr%] vHkh"V ;ksx = 60 o"kZ




